

C/o Range rd & Anfield rd  
Blackheath  
Kuilsrivier  
Cape Town

C/o Range rd & Anfield rd  
Blackheath  
Kuilsrivier  
Cape Town



(021) 903 3880

(021) 903 8874

Pieter@lrna.co.za

Liquor Runners Cape Town

Http://www.lrsa.co.za

**GRV for Dannic - LRSA NR: 13706 (GRV)**

**Receiver:** Curtis Jacobs  
**Checker:** Curtis Jacobs  
**Warehouse:** Johannesburg Beer  
**Sender Ref 1:** IBT00131/011/BT00131IBT  
**Receive Date:** 2025-04-07  
**WarehouseRecv:** Cape Town  
**Sender Ref 2:** KBK274FS/CPT/03APRIL2025

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
<b>Stock Received</b>					
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB		SA06112025	1095	13140
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB		SA31102025	375	4500
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB		SA30102025	525	6300
798051	SMIRNOFF SPIN (24 X 300ML) SAB		SA26112025	168	4032
798051	SMIRNOFF SPIN (24 X 300ML) SAB		SA28112025	168	4032
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB		SA06012026	85	1020
				2,416.00	33,024.00
			<b>Total QTY Received</b>	<b>2,416.00</b>	<b>33,024.00</b>

Checked By: Curtis Jacobs  
Transport Company: LR TRANSPORT

**Receiver:** KBK274FS  
**Checker:** Doctor  
**Driver Signature:** Doctor

07/04/2025 02:59:22 PM

# LIQUOR RUNNERS CAPE TOWN

## GOODS RECEIVED VOUCHER

3575

To be completed on receipt of goods from producers, Truckdrivers or Warehouse

G.R.V 13706 DRIVER NAME: Doctor

HIRE TRANSPORTATION CC. (if delivered by Hire Vehicle) LR Transport.  
 LOAD SHEET No. IBT00131/011/IBT00131IBT VEHICLE REG. No. KBK274FS  
 CUSTOMER Dannic DATE RECEIVED 07/04/2025

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO. / UPLIFT NO.
	Cases	Units			
1) Smirnoff Pine Twist 660ml	1095				BB-06/11/25
2) Smirnoff Pine Twist 660ml	375				BB-31/10/25
3) Smirnoff Pine Twist 660ml	525				BB-30/10/25
4) Smirnoff Pine Twist 660ml	85				BB-06/01/26
5) Smirnoff Spin 300ml NRB	168				BB-26/11/25
6) Smirnoff Spin 300ml NRB	168				
7)					
8)					
9)					
10)					
11)					
12)					
13)					
14)					
15)					
16)					
17)					
18)					
19)					
20)					
PALET CONTROL:	<input checked="" type="checkbox"/> GKN <input checked="" type="checkbox"/> Blue #1 <input checked="" type="checkbox"/> OTHER <input checked="" type="checkbox"/> SAB				
TOTAL:		2416			33pts

NOTES: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: Brady DRIVER: Doctor  
 TIME COMPLETED: \_\_\_\_\_ PAGE: 1 PAGE: 1

# Warehouse IBT Delivery Note

Dannic Wines and Spirits (Pty) Ltd

**From: 011 Liquor Runners JHB**  
Industrial Estate; Unit1  
21 Purlin Street North  
Clayville East; Olifantsfontein  
T: 012 010 3142

Manager: Shaun Ponton  
Telephone: T: 012 010 3142  
Fax: 0

**To: 013 Liquor Runners CPT**  
Cnr Anfield and Range Rd  
Blackheath  
Cape Town  
T: 021 903 8874

Reference: JHB to CPT

IBT Number	Date Issued	In Transit Warehouse	Delivery Note Number
IBT00131	02/04/2025	GIT Goods In Transit	IDEL00161

<u>Item Code</u>	<u>Item Description</u>	<u>Item Description</u>	<u>Qty Issued</u>	<u>Qty Received</u>
797988	Smirnoff Ice Pine Twist 660ml SA-Z	Case 12 x 660ml	2 080.00	_____
798051	Smirnoff Spin 300ml SA-Z	Case 24 x 300ml	336.00	_____

TOTAL PALLETS | 30

TOTAL QTY: 2 416.00

Received by CURTIS  
Date 07.04.25  
Signed [Signature]

Liquor Runner Cape Town (Pty) Ltd  
is a registered National Distributor  
REG. NO. RG004327



**IBT INSTRUCTION / DISPATCH NOTE**  
**CONSIGNEE - LR CAPE TOWN IBT**

DIASA	
<b>TOTAL QUANTITY FOR IBT: 0</b> <b>Number of Brown: 33</b>	<b>PRINCIPAL REFERENCE NUMBER</b> <b>IBT00131/011/BT00131IBT</b>
<b>IBT SPECIAL INSTRUCTIONS</b>	
Transport Company: <span style="border: 1px solid black; padding: 2px;">LR Primary</span>	Driver Name: <span style="border: 1px solid black; padding: 2px;">Doctor</span>
<b>Expected Delivery Date: 2025-04-03</b>	Truck Reg Nr: <span style="border: 1px solid black; padding: 2px;">KBK274FS</span>
<b>Transport Reference:</b> <span style="border: 1px solid black; padding: 2px;">KBK274FS/CPT/03APRIL2025</span>	Dispatch Date: <span style="border: 1px solid black; padding: 2px;">2025-04-03</span>
	Dispatch Time: <span style="border: 1px solid black; padding: 2px;">14:30</span>
Driver Signature: <span style="border-bottom: 1px solid black; display: inline-block; width: 150px; text-align: center;"></span>	LR Signature: <span style="border-bottom: 1px solid black; display: inline-block; width: 150px; text-align: center;"></span>

No. of Seals	Received by Driver	Seal Number
1		160681
2		160682
3		160683
4		160684
5		160685
6		160686
7		160687
8		160688
9		160729
10		160730
11		160731
12		160732

Liquor Runner Cape Town (Pty) Ltd  
 is a registered National Distributor  
**REG. NO. RG004327**